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Medical Off ice System oontains a bug which rray cause problems if rore than 
three patient data files are used. 

* * THIS FIX IS REJUIRED! * * 

Solution 
k* Changes to M::>S are soaewhat critical, the following process should be 
followed closely. USE THE F'OLIDWING FIX ONLY ON:E. If the problem is 
not solved with ONE application of the fix, further applications will cause 
loss of data! ** 

1. In BASIC, IDAD"ALPHASOR". 

2. Type these lines as shown. 

124.0 FZ=INTCC.AC-l)/Zl):IFFZ<>FOTHENFD=FZ:CIDSE3: 
1'""'M$="PDATA"+CHR$ C48+FO )+" :3" :~3:00SUB4.0~ :CLS 

125.0 IR~-FO*Zl:PR=INI'C CI.R-l)/2)+l:SR=IR-2*INI'C CI.R-1)/2)-1 

3. SAVE"ALPHASOR" 

4. In BASIC, IOAD"MENU". 

5. .Add these lines as shown. 

12.0 ~,Z=INI'( C.AC-1>/Zl) :IFFZ<>rornENFO=FZ :CIDSE3: 
FM$="PDA'.1'A"+CHR$ C 48+F'J )+": 3": NU=3: 00Sl.JB4.0,0 

14~ IR~-FO*Zl:PR=INI'CCI.R-l)/2)+l:SR=IR-2*INI'CCI.R-l)/2)-l 
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14,0,0 DEFFNA(X)=PEEK(X)+PEEK(X+l)*256:E=FNA(&H4,0A4) 
141,0 S=FNA(E):IFFNA(S+2)<1,0,0,0'1HENE=S:GYID141,0 
142,0 PRINT"Tf>=TP+"S-FNA(&H4,0A4)"IN LINE 111,0":END 

5. TYPE 'GJ'n)l4,0,0 

(The corrputer will pause and print "TP=TP+NNNN IN LINE 111,0". The NNNN will 
be a nwnber. ) 

6. TYPE I LISTlll,0 

(If the mmiber after TP=TP+ ••• does not match the corrputer generr.tted 
number, the line must be edit<:rl to contain the new value.) 

7. TYPE I EDITll 7.0 

Line ln,0 should look like this: 

117,0 DATAMJNSOR·r ,PRINT STA'I'F.MENI'S, BIJ.PR'r, SEr lJP SYS'rEM DISKS, rnrr' 16922' 
16923,16924,139,0,417,0,3,16452,l6453,16454,66,0,396,0,6 

(If the nwnbers under the \.\Drd 'PRINT' are not 139,0,417,0 edit them to 
oonform to the new line 117,0. There are no other changes in the line. ) 

8. TYPE I SAVE"MENU" 

** FDRMAT A NEW DATA DISK E'OR EACH PATIENI' DATA DISK. 

1,0 CLEAR2,0,0,0:CIS:AC=l:FD=-l:B2=-l 
2,0 IFPEEK(293)=73'IHF..NZ1=139,0ELSEZ1=66,0 
3,0 0$ (l)="OW" :D$ (2)="NEW" 
4,0 CI.S: INPUT"vHAT IS YOUR PASSWJRD? (PRESS <ENTER> IF N)NE)" ;PW$ 
5,0 IFPW$=" "'IHENPW$=" PASSWJRD" 
6,0 PW$="."+PW$ 
n IFFO<>INI'(AC/ (Zl+l) )'rH:Et-K:J...DSEl:FD=INT(AC/(Zl+l)) :D=l:DN=FD+l: 

GOSUB14,0:OPEN".R",1, "PDATA"+CHR$ (FD+48 )+PW$+" :l" 
8,0 PRINT@339,AC 
9,0 IR=AC-FD*Zl+l:PR=INT((IR-l)/2)+l:SR=IR-2*INT((IR-l)/2)-l 
1,0,0 FIELDl,SR*l27ASA1$,127ASA$:GErl,PR 
11,0 Bl=INT( (AC-1 )/ Zl): IFBl<>B2'1HENB2=Bl:CWSE2:FM$="PDATA"+CHR$ (48+Bl )+": 

2" :0=2: DN=B2+ l:OOSUB14,0 :OPEN"R", 2, "PDATA"+CHR$ (48+Bl )+PW$+": 2" 
12,0 B=AC-Bl*Zl:B3=INT((B-l)/2)+l:B4=B-2*INT((B-l)/2)-l 
13,0 FIELD2,B4*127ASB1$,127ASB$:ISETB$=A$:PUT2,B3:AC=AC+l:GCYID7,0 
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14,0 IFAC>l'IHENMS$="NEXT" 
15,0' CI.S :PRINT".PUT "0$ (D)" PATIENI' DATA DISK" ON" IN DRIVE"D 
16,0' PRINT:PRINT"PRESS <Et'l'I'ER> WIEN RFADY, OR <@> 'ID END" 
17,0' W$=INKEY$:IFW$=""'IHEN17,0' 
18,0' IFW$=Clffi$(13 )'!HEN2IS:PRINT@32,0, "WJRKING ON RED)RD #"; :REIURN 
19,0' IFW$="@"'IHEN:IDSE: ENDfilSEl 7,0' 

FDLIDW '!HE PROMPTS, INSER'rING OID AND NEW DISKS AS RB;)UES'I'ED. 
THESE NEW DISKS WILL BE USED WITH '!HE r.DDIFIED M)S DISK. 
00 NCYf ATI'EMPT 'ID USE 'I'HE OLD PA'rIENI' DATA DISKS WITH 'IHE M::>DIFIED PROORAM. 


